Latest Version: 6.0

Which command will gracefully shut down a router from the Junos CLI?
Response:

A. Request system shutdown
B. Shutdown now

C. Request system halt

D. Shutdown -r now

Answer: C

Which statement is correct about protocol families on an interface?
Response:

A. Only one family is allowed on an interface.

B. Only one address per family is allowed on an interface.

C. Only one address per family is allowed on a given logical unit.

D. Multiple families and addresses can be configured under the same logical unit.

Answer: D

You have configured an SRX Series device for the first time. When you commit your configuration, the

Junos OS notifies you that you cannot yet commit your configuration.Which configuration step must you
complete?

Response:

A. date/time

B. root authentication
C. security policies

D. hostname

Answer: B




What is used to segment larger networks into smaller networks?
Response:

A. supernet masks
B. subnet masks
C. wildcard masks
D. route filtering

Answer: B

When a system process encounters an error, how does the Junos OS protect the other processes from
being impacted?
Response:

A. Each routing protocol runs as an individual process.

B. Each process operates in its own shared memory space.
C. The Junos OS executes multiple processes simultaneously.
D. The Junos OS executes only one process at a time.

Answer: B

When configuring more than one archival site, which statement is true?
Response:

A. The system will first attempt the transfer using the URL configured last.

B. The system will transfer the configuration to each archival site.

C. The system will not transfer to a secondary site unless the previous site fails.

D. The system will transfer using secure copy protocol (SCP) before attempting FTP.

Answer: C




A BGP route does not match any term within a routing policy applied to BGP. Which action is taken by
the router for this route?
Response:

A. It discards the route by the implicit ‘discard all’ at the end of the policy.

B. It advertises the route according to BGP rules.

C. It discards the route by the default routing protocols policy.

D. It discards the route because it is unable to match the route to a configured action.

Answer: B

Which protocol creates a complete database of the network topology prior to calculating the optimal
route?
Response:

A. BGP
B. PIM
C. OSPF
D. RIP

Answer: C

What are two important steps when upgrading an SRX300 Series device?
(Choose two.)
Response:

A. Verify that enough space exists to upload the software package.
B. Verify that the netconf protocol is enabled.

C. Clear all alarms.

D. Reboot the device.

Answer: A,D

How does a Junos device handle exception traffic?
Response:



A. Exception packets are dropped by the Packet Forwarding Engine.

B. Exception packets are sent to the Routing Engine and are then dropped.

C. Exception packets are sent to the Routing Engine for processing.
D. Exception packets are processed by the Packet Forwarding Engine.

Answer: C




